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For next lecture

For Wednesday (Jan 9), watch the videos:
e Sup & Inf: 7.3, 7.4
e Integrable functions: 7.5, 7.6, 7.7

WELL, WE ARE
HEADING OUT NOW.
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Warm-up: sums

Recall:
n
Ya = a,+a,, +a,,++a,, +aq,
i=p

How many summands are there in the above sum?

Compute:
4
0 D i+l
i=2

4
[>) 2(21' +1)
Jj=2
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Warm-up: sums

Recall:
n
Ya = a,+a,, +a,,++a,, +aq,
i=p

How many summands are there in the above sum?

Compute:
4 2
0 D i+l © )i+l
i=2 i=4

4
. 4
9;(2z+1) 0221+1
i=2
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Write these sums with X

(the solution may not be unique)

01°+2°+3 +4 + -+ 100

2 2 2 2 2
9E+§+§+—+ +ﬁ

® cosO—cosl+cos2—cos3+:--+cos(N +1)

ol _L,l_ 1. .1
13 57! 81!
3! 41 5! 6! 1001!
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Double sums

Compute:

M =
M =

N
Il
—_
»
Il
—_

(2]

™

N
I
—_
»
I
—_

Useful formulae:

i

N
e ), Dk

i=1 k=1

)
M=
- T

[~
.MZ
»

N
I
—_
»
I
—_

S N(N +1 N(N + 1)@2N +1 N2(N +1)?
ZJ:(+)22 (+)(+)23 (+)

Jj=1
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Telescopic sum

Compute the exact value of

2,019

> (5137

i=1

Hint: Write down the first few terms.
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Telescopic sum

Compute the exact value of

2,019

> (5137

i=1
Hint: Write down the first few terms.

Compute the exact value of

10,000

1
; i(i + 1)
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100 50 27?7
© ) tani- ) tani = ) 77
i=1 i=1 27?7
N N-1
[2) Z(zi— 1) = Z 299
i=1 i=0
N N 27?
O D x|+ Drx) =(D 2nk)+
k=1 k=0 k=777
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